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Level	
  2	
  
Calculate	
  the	
  posi1on	
  and	
  the	
  direc1on	
  of	
  the	
  rover	
  
a6er	
  driving	
  a	
  certain	
  distance	
  with	
  a	
  certain	
  steering	
  
angle.	
  
	
  
Input:	
  WheelBase	
  Distance	
  SteeringAngle	
  
(3	
  floa1ng	
  point	
  numbers)	
  
	
  
	
  
Output:	
  x	
  y	
  NewDirec1on	
  
(3	
  floa1ng	
  point	
  numbers,	
  
rounded	
  to	
  two	
  digits)	
  
x,y	
  …	
  x,y	
  posi1on	
  rela1ve	
  to	
  star1ng	
  posi1on	
  
NewDirec1on	
  …	
  0	
  <=	
  NewDirec1on	
  <	
  360	
  
	
  
Example:	
  	
  

Input:	
  	
  1.00	
  1.00	
  30.00	
  
Output:	
  	
  0.24	
  0.96	
  28.65	
  

	
  


